Pg. 128 #1-11 odd, 32-35, 37-39, 45-46

Solve each system by substitution. Check your answers.

dx +2y =17 {3f+2d=2
i 2.
: {_}r = Sx d=4
{4p+2q=8 {x+3y— 7
4.
g=72p+1 2r —dy = 24
Ja+ b= 3 f=2r+3
" 8.
?{Zﬂ—5b=—]ﬁ {!‘_4!‘—5
2m + dn = 10 i { —6 = 3x — Gy
Im + 5n =11 4r—4+'iy
Solve each system by elimination.
30 4x -ﬁy=—2f: { 9a —3d = 3
"l -2k + 3y = o+ d=-1
2x—3y=6 20x + Sy =120
gex {Iﬁ.i.' —Qy=9 i {l[]lt + 75y = 80
2x—3y=-1 { x—2y=-19
36'{3_r+4;.r= 8 s Zx+3y= 0
y=4-ux {3r+2v=1l.l
H'{3_r+_\'=6 A 6x + 4y = 15
Solve each system.
{Sx + y= 0 m {Zm = —d4n — 4
5S¢+ 2y =30 im+ 5n = -3
) = ) = 85
4.{1 9 + 300 m{ﬂﬂ.r+6ﬂ} 8
v =Tt + 400 100x — 40y = 20
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5{:.{3* 3 = 300
Iy — 4y = 300

0 {ﬂ.ﬂzn - 156 =4
"losk - 0020 =18

x+ 12y = 68
;#8}*—12

y=2x -1
¥ Ix—y=-1
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1, r— 3z =

{
=g
{
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{E.rr + 3b =12
S50 — b=13
2 it
{100
i en

Tx + 2y = =8
4&.{ Y

By = 4x
2x + 3y =10
o {?x =3(2y) +3
i { 4y = 2x :
2x+ y= §+1



